

Pay Estimate Created Date: December 16, 2021

Progress Estimate No 7			01120-G06 apital Paving & Cons	struction,			, 2021 Original Contract Amoun 5, 2021Net Change Order Amoun Current Contract Amoun	nt\$4,817.55		
Approval Date								By User		
December 16, 2021			Generated and	Approve	ed (and should be considere	d Draft)	at the Project Office Level by	davisjf		
December 16, 2021			Reviewed and App	eviewed and Approved (and should be considered Draft) at the Resident Engineer Level by						
December 17, 2021				Reviewe	ed and Approved at the Cen	itral Offi	ice Controllers Office Level by	ramses1		
Original Completio	n Date	Current Co	mpletion Date	Act	tual Completion Date		% of Current Contract Amount	Complete		
November 1, 20	21	Novemb	per 1, 2021				87.66%			
	Contract	Informational Dat	tes		Milestones					
Date Description	Original	Completion Date	Current Completio	on Date	No Milestones Exist for C	ontract				
Acceptance Date										
Awarded Date	Decembe	r 2, 2020	December 2, 2020							
Letting Date	Novembe	r 20, 2020	November 20, 2020	0						
Notice to Proceed Date	January 4	l, 2021	January 4, 2021							
Work Began Date										

Contract Total Pa	ay For Estimate No. 7			
		This Estimate	Previous	To Date
201120-G06				
	Total Posted Items Pay	\$2,262,472.12	\$3,935,085.96	\$6,197,558.08
	Gross Item Adjustments	\$169,600.38	\$654,442.28	\$824,042.66
	Incentive	\$27,437.13	\$0.00	\$27,437.13
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	,		\$4,589,528.24	\$7,049,037.87
Contract Total Pa	ayable This Estimate:	\$2,459,509.63		

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3276	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$0.010	1	\$0.01
	0020	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	TONS	\$49.310	40,967.75	\$2,020,119.75
	0030	4071005	TACK COAT	GAL	\$2.100	43,997	\$92,393.70
	0200	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$0.240	474,569	\$113,896.56
	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$9.000	4,006.9	\$36,062.10
Project J7F	3276 - Tot	al					\$2,262,472.12
Overall - To	otal						\$2,262,472.12

Contract Adjustments This Estimate

Adj Type	Entered By	Comments	Time Units	Rate	Amount
SPADIncentive	davisjf	Line 0250 SP095 21-65			\$27,437.13



Number	No.	item Description	Туре	Adjustment Type	Comments	Quantity	Adjustment Unit Price	amount	
J7P3276	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		\$4.15	\$24,578.67	
	0020	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C			Reference Item Price Adjustment Index Adjustment Type applied is FUEL	· · ·	\$4.15	\$27,149.05	



Pay Estimate Created Date: December 16, 2021

•	55 LSU	mate Number ,	Contract ID Prime Contrac	201120-G0 torCapital Pav		Pay Period StartDecember 2, 2021 uction, LLCPay Period End December 15, 2021	Net Change	Order Amou	
Project lumber	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
7P3276			MIX)						
	0020		IC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	6,315.89	\$4.15	\$26,210.94
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	5,305.55	\$4.15	\$22,018.03
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,918.58	\$4.15	\$12,112.1
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,251.08	\$4.15	\$13,491.9
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,044.91	\$4.15	\$8,486.3
	0020		IC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,028.1	\$4.15	\$8,416.6
	0020		IC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,013.54	\$4.15	\$4,206.1
	0020		IC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,065.68	\$4.15	\$8,572.5
	0020		IC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,186.85	\$4.15	\$9,075.4
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,115.48	\$4.15	\$4,629.2
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	257.58	\$4.15	\$1,068.9
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$85,714.5
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$41,701.2
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Material			-59,405.64	\$49.31	(\$2,929,292.1
	0020		TC CONCRETE 70-22 (SP095C MIX)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user davisjf overridding Payment Estimate Exception 1 on the current Payment Estimate.	59,405.64	\$49.31	\$2,929,292.1
	0020		TIC CONCRETE 70-22 (SP095C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	The AC adjustment represents 40,967.75 Tons of SP095 21-94.			\$127,000.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J7P3276	FAF 13-2(86)	Resurface	13	POLK	from 0.5 mile north of Rte. UU to 0.1 mile south of 565th Road
J7P3277	FAF 13-2(87)	Resurface	13	GREENE	from 0.1 mile south of 565th Road to Rte. WW
J8P3118	FAF 13-2(89)	Resurface	13	GREENE	from Rte. WW to 0.1 mile north of Norton Road in Springfield

Totals by Job Numbers

J7P3276		This Estimate	Previous	To Data
J1F3210	Dested Item Dev	This Estimate		To Date
	Posted Item Pay	\$2,262,472.12	\$2,147,145.82	\$4,409,617.94
	Gross Item Adjustments	\$169,600.38	\$425,365.50	\$594,965.88
	Gross Item Pay	\$2,432,072.50	\$2,572,511.32	\$5,004,583.82
	Incentive	\$19.960.51	\$0.00	\$19,960.51
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
		\$0.00	\$0.00	<i>Q</i> (100)
J7P3277		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$785,423.45	\$785,423.45
	Gross Item Adjustments	\$0.00	\$98,523.69	\$98,523.69
	Gross Item Pay	\$0.00	\$883,947.14	\$883,947.14
		* ** *** **	* 2.22	* 0.000.10
	Incentive	\$3,388.49	\$0.00	\$3,388.49
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J8P3118		This Estimate	Previous	To Date
001 0110	Posted Item Pay	\$0.00	\$1,002,516.69	\$1,002,516.69
	Gross Item Adjustments	\$0.00	\$130.553.09	\$130.553.09
	Gross Item Pay	\$0.00 \$0.00	\$1,133,069.78	\$1,133,069.78
	Grossitem Pay	φ 0.00	\$1,133,005.78	\$1,155,005.70
	Incentive	\$4,088.13	\$0.00	\$4,088.13
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J7P3276, Item 4030003, Project Item Line Number 0020, Material Set 403000396, Material 0403SP095CLG - Superpave 9.5 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	Waiting for recent QC data to be entered into the system.	davisjf	Overridden
Estimate Exception Type: Item Overrun: Contract 201120-G06, Contract Project J7P3277, Project Item Line Number 0260, Contract Line Item Number 0260, Item 4071005, Minor Item.	Item overrun will be adjusted soon with change order.	davisjf	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-G06, Contract Project J8P3118, Project Item Line Number 0470, Contract Line Item Number 0470, Item 4030003, Minor Item.	Item overrun will be adjusted soon with change order.	davisjf	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Note: Posted Q	uantities				eport Generated date and can differ from the posted am	ount at the t	time the Es	timate was	Generat	ed.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201120-G06	J7P3276	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$0.01	\$0.01
		0001	0020	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	82,447.30	0.00	82,447.30	TONS	82,272.84	\$49.31	\$4,056,873.74
		0001	0030	4071005	TACK COAT	97,450.00	0.00	97,450.00	GAL	88,379.00	\$2.10	\$185,595.90
		0001	0040	4134000	BITUMINOUS FOG SEAL	59,119.00	0.00	59,119.00	GAL	0.00	\$2.42	\$0.00
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$750.00	\$0.00
		0001	0060	6161005	CONSTRUCTION SIGNS	2,111.00	0.00	2,111.00	SQFT	0.00	\$6.00	\$0.00
		0001	0070	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$100.00	\$0.00
		0001	0080	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$20.00	\$0.00
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	0.00	\$15.00	\$0.00
		0001	0100	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	0.00	\$150.00	\$0.00
		0001	0110	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$750.00	\$0.00
		0001	0120	6161055	SEQUENTIAL FLASHING WARNING LIGHT	16.00	0.00	16.00	EA	0.00	\$50.00	\$0.00
		0001	0130	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$3,500.00	\$0.00
		0001	0140	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	0.00	\$2,000.00	\$0.00
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$197,331.48	\$0.00
		0001	0160	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	766.00	0.00	766.00	LF	0.00	\$20.00	\$0.00
		0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	102.00	0.00	102.00	EA	0.00	\$250.00	\$0.00
		0001	0180	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	386,817.00	0.00	386,817.00	LF	0.00	\$0.19	\$0.00
		0001	0190	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	261,101.00	0.00	261,101.00	LF	0.00	\$0.20	\$0.00
		0001	0200	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	974,492.00	0.00	974,492.00	SQYD	970,843.00	\$0.24	\$233,002.32
		0001	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	4,006.90	0.00	4,006.90	STA	4,006.90	\$9.00	\$36,062.10
		0001	0220	6262000A	PORTLAND CEMENT CONCRETE SHOULDER RUMBLE STRIP	988.30	0.00	988.30	STA	0.00	\$51.00	\$0.00
		0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$750.00	\$0.00
	Project J	7P3276 - To	otal Value	Posted to D	Date as of Report Generated Date							\$4,511,534.07
	J7P3277	0001	0240	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$0.01	\$0.01
		0001	0250	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	12,672.50	0.00	12,672.50	TONS	12,288.18	\$48.26	\$593,027.57
		0001	0260	4071005	TACK COAT	14,912.00	0.00	14,912.00	GAL	15,730.00	\$2.10	\$33,033.00
		0001	0270	4134000	BITUMINOUS FOG SEAL	15,425.00	0.00	15,425.00	GAL	0.00	\$2.48	\$0.00
		0001	0280	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0290	6161005	CONSTRUCTION SIGNS	2,111.00	0.00	2,111.00	SQFT	2,111.00	\$6.00	\$12,666.00
		0001	0300	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$100.00	\$0.00
		0001	0310	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$20.00	\$0.00
		0001	0320	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	300.00	\$15.00	\$4,500.00
		0001	0330	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	10.00	\$150.00	\$1,500.00
		0001	0340	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0350	6161055	SEQUENTIAL FLASHING WARNING LIGHT	20.00	0.00	20.00	EA	20.00	\$50.00	\$1,000.00
		0001	0360	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.00
		0001	0370	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	8.00	\$2,000.00	\$16,000.00
		0001	0380	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$34,524.11	\$34,524.11
		0001	0390	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	70.00	0.00	70.00	LF	0.00	\$25.00	\$0.00
		0001	0400	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	8.00	0.00	8.00	EA	0.00	\$250.00	\$0.00
		0001	0410		6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	80,878.00	0.00	80,878.00	LF	0.00	\$0.19	\$0.00
		0001	0420	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	67,859.00	0.00	67,859.00	LF	0.00	\$0.20	\$0.00
		0001	0430	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	149,112.00	0.00	149,112.00	SQYD	149,112.00	\$0.48	\$71,573.76



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201120-G06	J7P3277	0001	0440	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	761.00	0.00	761.00	STA	761.00	\$9.00	\$6,849.00
		0001	0450	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$750.00	\$750.00
	Project J	7P3277 - To	otal Value	Posted to I	Date as of Report Generated Date							\$785,423.45
	J8P3118	0001	0460	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$0.01	\$0.01
		0001	0470	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	16,376.70	0.00	16,376.70	TONS	16,443.70	\$47.63	\$783,213.43
		0001	0480	4071005	TACK COAT	19,254.00	-19,254.00	0.00	GAL	0.00	\$2.10	\$0.00
		0001	0490	4134000	BITUMINOUS FOG SEAL	10,110.00	0.00	10,110.00	GAL	0.00	\$2.43	\$0.00
		0001	0500	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0510	6161005	CONSTRUCTION SIGNS	2,145.00	0.00	2,145.00	SQFT	2,145.00	\$6.00	\$12,870.00
		0001	0520	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$100.00	\$0.00
		0001	0530	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$20.00	\$0.00
		0001	0540	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	300.00	\$15.00	\$4,500.00
		0001	0550	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	10.00	\$150.00	\$1,500.00
		0001	0560	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0570	6161055	SEQUENTIAL FLASHING WARNING LIGHT	32.00	0.00	32.00	EA	32.00	\$50.00	\$1,600.00
		0001	0580	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.00
		0001	0590	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	8.00	\$2,000.00	\$16,000.00
		0001	0600	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$58,272.93	\$58,272.93
		0001	0610	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$300.00	\$0.00
		0001	0620	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	76,852.00	0.00	76,852.00	LF	0.00	\$0.19	\$0.00
		0001	0630	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	60,192.00	0.00	60,192.00	LF	0.00	\$0.20	\$0.00
		0001	0640	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	192,531.00	0.00	192,531.00	SQYD	192,531.00	\$0.31	\$59,684.61
		0001	0650	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,021.70	0.00	1,021.70	STA	1,021.70	\$9.00	\$9,195.30
		0001	0660	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$750.00	\$750.00
		0001	5201	4071007	TACK COAT - LOW OR NON-TRACKING	0.00	19,254.00	19,254.00	GAL	18,528.00	\$2.42	\$44,930.40
	Project J	8P3118 - To	otal Value	Posted to I	Date as of Report Generated Date							\$1,002,516.68
01120-G06 Ove	erall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$6,299,474.20



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

ine mber	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	12/15/21	12/16/21	1.00	15	LM 72.461 to LM 104.569	Mile		Mile		
020		ASPH. CONC. MIXTURE PG 70-22 (SP095C)	12/13/21		5,922.57		SB Driving Lane Rte. 13 from LM 190.879 to LM 192.709					
J20	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	1212121	12/0/21	5,922.57	TUNS	and on SB Passing Lane Rte. 13 from LM 180.079 to LM 192.709 185.026. SB Passing Lane Rte. 13 from LM 185.026 to LM					
			12/3/21	12/7/21	6,541.94	TONS	188.696. SB Passing Lane Rte. 13 from LM 188.696 to LM unknown.					
			12/4/21	12/7/21	6 315 89	TONS	SB Passing Lane Rte. 13					
				12/7/21			SB Passing Lane Rte. 13 from LM unknown to LM					
			12,0121	127721	0,000.00	10110	217.889 to LM 218.154. SB Driving Lane of Rte. 13 from LM 202.356 to LM 205.745.					
			12/6/21	12/7/21			SB Driving Lane of Rte. 13 from LM 205.745 to LM 210.284.					
			12/8/21	12/10/21	3,251.08	TONS	SB Driving Lane of Rte. 13 from LM 210.284 to LM 215.182					
			12/9/21	12/13/21			SB Driving Lane of Rte. 13 from LM 215.182 to LM 218.154					
			12/10/21	12/13/21	2,028.10	TONS	On and Off Ramps for NB and SB Rte. 13 at Rte. T					
			12/11/21	12/13/21	1,013.54	TONS	median turn lanes and crossovers at SE 1150 Rd., SE 1300 Rd., 310th Rd. and 316th Rd					
			12/12/21	12/13/21	2,065.68	TONS	On and Off Ramps for NB and SB Rte. 13 at Rte. 83					
			12/13/21				On and Off Ramps for NB and SB Rte. 13 at Rte. 32.					
			12/14/21	12/15/21	1,115.48		On and Off Ramps for NB and SB Rte. 13 at Rte. N.					
				12/16/21			Various NB outside shoulders LM 87.959 to 104.538					
030	4071005	TACK COAT	12/2/21	12/6/21	5,526.00	GAL	SB Driving Lane Rte. 13 from LM 190.879 to LM 192.709					
							and on SB Passing Lane Rte. 13 from LM 183.566 to LM 185.026. SB Passing Lane Rte. 13 from LM 185.026 to LM 188.696.					
			12/3/21	12/7/21	7,449.00	GAL	SB Passing Lane Rte. 13 from LM 188.696 to LM unknown.					
			12/4/21	12/7/21	6,207.00	GAL	SB Passing Lane Rte. 13					
			12/5/21	12/7/21	6,787.00	GAL	SB Passing Lane Rte. 13 from LM unknown to LM 217.889 to LM 218.154. SB Driving Lane of Rte. 13 from LM 202.356 to LM					
			12/6/21	12/7/21	2,824.00	GAL	205.745. SB Driving Lane of Rte. 13 from LM 205.745 to LM 210.284.					
			12/7/21	12/9/21	1,704.00	GAL	Rte. 13 SB Driving Lane LM 210.284 To LM 210.484					
			12/8/21	12/10/21	4,508.00	GAL	SB Driving Lane of Rte. 13 from LM 210.284 to LM 215.182					
			12/9/21	12/13/21	282.00	GAL	SB Driving Lane of Rte. 13 from LM 215.182 to LM 218.154					
			12/10/21		2,201.00		On and Off Ramps for NB and SB Rte. 13 at Rte. T					
			12/11/21		1,022.00		median turn lanes and crossovers at SE 1150 Rd., SE 1300 Rd., 310th Rd. and 316th Rd					
			12/12/21	12/13/21	2,093.00		On and Off Ramps for NB and SB Rte. 13 at Rte. 83					
				12/15/21	1,991.00		On and Off Ramps for NB and SB Rte. 13 at Rte. 32.					
			12/14/21	12/15/21	1,130.00		On and Off Ramps for NB and SB Rte. 13 at Rte. N.					
200	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	12/15/21	12/16/21 12/6/21	273.00 58,503.00		Various NB outside shoulders LM 87.959 to 104.538 SB Driving Lane Rte. 13 from LM 191.687 to LM 192.709					
							and on SB Passing Lane Rte. 13 from LM 183.566 to LM 185.026 SB Passing Lane Rte. 13 from LM 185.026 to LM unknown					
			12/3/21	12/7/21	98,588.00	SQYD	SB Passing Lane Rte. 13 from LM 203.907 to LM unknown.					
			12/4/21	12/7/21	78,551.00	SQYD	SB Passing Lane Rte. 13 from unknown to LM 214.338 to LM 217.726					
			12/5/21	12/7/21	46,042.00	SQYD	SB Passing Lane Rte. 13 from LM 217.726 to LM 218.154. SB Driving Lane of Rte. 13 from LM 202.356 to LM					
				10/71/21	10.1/	00	207.153.					
							SB Driving Lane Rte. 13 from LM 207.153 to LM 212.533 SB Driving Lane Rte. 13 from LM 212.533 to LM 218.154					
				12/10/21			SB Driving Lane Rte. 13 from LM 212.533 to LM 218.154 Private Entrance LM 183.842 SB Outside Shldr					
			12/0/21	12/10/21	1,700.00	GQTD	Trans. Linkalic. Jan. 2002; C. G. Outsche Grind St. 1150; R. S. Dutside Shidr SE 1300; R. S. B. Outside Shidr 3108; R. J. S. B. Outside Shidr 3168; R. J. S. Outside Shidr S. 30th R. J. S. Outside Shidr S. 30th R. J. S. Outside Shidr					
			12/10/21	12/13/21	22,788.00	SQYD	On and Off Ramps for NB and SB Rte. 13 at Rte. T					
							median turn lanes and crossovers at SE 1150 Rd., SE 1300 Rd., 310th Rd. and 316th Rd					
			12/12/21	12/13/21	22,675.00	SQYD	On and Off Ramps for NB and SB Rte. 13 at Rte. 83					
							On and Off Ramps for NB and SB Rte. 13 at Rte. 32.					
							On and Off Ramps for NB and SB Rte. 13 at Rte. N					
		BITUMINOUS SHOULDER RUMBLE STRIP	40/45/04	12/16/21	4,006.90		North Bound LM 72.55 to 104.520					

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3276	0020	ASPH. CONC.	Stockpile		5	Nov 16, 2021	SYSTEM	(\$32,037.93)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MIXTURE PG 70-22 (SP095C)			6	Dec 2, 2021	SYSTEM	(\$90,619.80)	Payment Estimate Item Adjustment generated Stockpile Transaction
					7	Dec 16, 2021	SYSTEM	(\$127,415.82)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	- Total				
			Construction Stockpile - Total					(\$250,073.55)	
			Construction Stockpile STMI		1	Apr 1, 2021	SYSTEM	\$172,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
					2	May 3, 2021	SYSTEM	\$83,923.42	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$256,423.42	
			Construction Stockpile STMI - Total					\$256,423.42	
			Material		6	Dec 2, 2021	SYSTEM	\$1,451,582.36	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user davisjf overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Dec 2, 2021	SYSTEM	(\$1,451,582.36)	
					7	Dec 16, 2021	SYSTEM	\$2,929,292.11	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user davisjf overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Dec 16, 2021	SYSTEM	(\$2,929,292.11)	
				- Total				\$0.00	
			Material - Total					\$0.00	
			Other Item Adjustment	ACAD	5	Nov 16, 2021	davisjf	\$32,731.71	The AC adjustment represents 10,301.09 TONS of SP095 21-64.
					6	Dec 2, 2021	davisjf	\$92,582.19	The AC adjustment represents 29136.80 TONS of SP095 21-94.
					7	Dec 16, 2021	davisjf	\$127,000.03	The AC adjustment represents 40,967.75 Tons of SP095 21-94.
				ACAD - Total				\$252,313.93	
			Other Item Ad	Adjustment - Total				\$252,313.93	
			Price FUEL		5	Nov 16, 2021	SYSTEM	\$43,433.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Dec 2, 2021	SYSTEM	\$122,852.40	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Dec 16, 2021	SYSTEM	\$170,016.17	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$336,302.08	
			Price FUEL - Total					\$336,302.08	
	0020 -	Total						\$594,965.88	
J7P3276 ·	Total							\$594,965.88	
J7P3277	0250	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Material		4	Nov 1, 2021	SYSTEM	\$358,441.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user howels overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Nov 1, 2021	SYSTEM	(\$358,441.98)	
			- Total					\$0.00	
			Material - Tota	Material - Total				\$0.00	
			Other Item Adjustment	ACAD	4	Nov 1, 2021	HOWELS	\$41,683.17	
					5	Nov 16, 2021	davisjf	\$7,434.27	The AC adjustment represents 1859.73 TONS of SP095 21-65.
					6	Dec 2, 2021	davisjf	\$4.56	The AC adjustment represents 1.14 TONS SP095 21-65.
				ACAD - Total				\$49,122.00	
			Other Item Ad	Other Item Adjustment - Total					



Line Item Adjustments by Estimate

Dec 27, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3277	0250	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Price FUEL	турс	4	Nov 1, 2021	SYSTEM	\$43,273.32	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Nov 16, 2021	SYSTEM	\$7,841.36	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Dec 2, 2021	SYSTEM	\$4.81	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$51,119.49	
			Price FUEL - Total					\$51,119.49	
	0250 - Total							\$100,241.49	
	0260	TACK COAT	Overrun	Overrun	5	Nov 16, 2021	SYSTEM	(\$1,717.80)	
				Overrun - T	otal			(\$1,717.80)	
			Overrun - Total					(\$1,717.80)	
	0260 -	Total	tal						
J7P3277 -	Total							\$98,523.69	
J8P3118	0470	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Material		4	Nov 1, 2021	SYSTEM	\$555,571.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user howels overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Nov 1, 2021	SYSTEM	(\$555,571.56)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
			Other Item Adjustment	ACAD	3	Oct 17, 2021	HOWELS	\$17,327.01	SP095 21-65
					4	Nov 1, 2021	HOWELS	\$45,291.12	
					5	Nov 16, 2021	davisjf	\$3,115.57	The AC adjustment represents 779.38 TONS of SP095 21-65.
				ACAD - Total				\$65,733.70	
			Other Item Adj	ustment - To	tal			\$65,733.70	
			Overrun	Overrun		Nov 16, 2021	SYSTEM	(\$3,473.71)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun - Total					(\$3,473.71)	
			Overrun - Total					(\$3,473.71)	
			Price FUEL		3	Oct 17, 2021	SYSTEM	\$17,988.01	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Nov 1, 2021	SYSTEM	\$47,018.91	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Nov 16, 2021	SYSTEM	\$3,286.18	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$68,293.10	
			Price FUEL - Total					\$68,293.10	
	0470 - Total							\$130,553.09	
	5201	TACK COAT - LOW OR NON- TRACKING	Material		3	Oct 17, 2021	SYSTEM	(\$12,314.15)	
			- Total					(\$12,314.15)	
			Material - Total					(\$12,314.15)	
			MaterialCredit		4	Nov 1, 2021	SYSTEM	\$12,314.15	
				- Total				\$12,314.15	
			MaterialCredit - Total					\$12,314.15	
	5201 -	Total						\$0.00	
J8P3118 -	Total						\$130,553.09		
Overall -	Total							\$824,042.66	